Date:

Name:

Find Out the Correct Statement

The bowlingball is heavier than the bus.

C

The planet is lighter than the tennisball.

>

The planet is heavier than the car.

The bowlingball 1s lighter than the car.

The car is heavier than the car.

The bowlingball is lighter than the bus.
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Date: Name:

Find Out the Correct Statement

The car 1s heavier than the bus.

© o

The voleyball 1s heavier than the car. The biliardballs are lighter than the car.

C

The tennisball is lighter than the car.
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